BOE A B AE S S I 1084
N E] A T A A IR S A S {U5E:1457

RRZEAILTT ~ UJT » MRZEAAILIT HEBITINLIT ~ UIT » RRZEA+ITT ~ 17T BHE8BITIULTT ~ UJT » RRZE BT ~ UJT ©
ES ]

B Ei= ! -t 7 2BATR/OLER

AR A

[BE32\ > JEIR ST

$ I G R 2 BT s
11 FERGICE T AA 1ﬁﬂ§ﬁml 79%

AR s TR

R 2 R TR T

FHET ?

AR R R

B R SRR
12 FOEEN  LREEEE A | 95%

B SR A

R R R A 9

AERBHE=SZ L

e Y s 0
13 SRR \E TR A+ 1ﬁﬂ§ﬁm1 sl
IR S - RS
SIEEHELAE? [(BA8 69%
ASESERSHALEE : o
g 7
RS R R RS
1.5 ¥k - B ARAARFEERTTH A 1 100%
AR 1 2
NS E REAT AR
gy ?
AR R SR €30
17 HR M REREEME A ] 839
TR
TR AR G 14
FIB i 2
TR A AR G 30
19 HRIES M EE A 0 46%

9

IR PR G 30
1.10 HRT MR E MR A 0 26%
ST 2
ARSI GG
B (S e 2
AR B RS R
TR RAF 2 5T 2
TR T R S
1.13 » B BRAEHZ30H B 1 98%

a2

AR A —
114 B GSREE ST A | $7%
2
AT AR BT ELR
AR ER A TS
o T % P9 AR R
R TSR] 2
SEPEREEE - BAE A BLA
116 BRI R A | 96%
B 1500 2
RS R BT
— B AT RETAT
L EEIEIOES 5
o

1.4

A 0 13%

1.8 A 1 83%

1.11 A 0 29%

1.12 A 1 98%

1.15 A 1 31%

1.17 A 1 94%




BOE A B AE S S I 1084
N E] A T A A IR S A S {U5E:1457

RRZEAILTT ~ UJT » MRZEAAILIT HEBITINLIT ~ UIT » RRZEA+ITT ~ 17T BHE8BITIULTT ~ UJT » RRZE BT ~ UJT ©
ES ]

R £ i B5  LBATESLE
AR BT A GEF A
A A
NARE EEEERES
TAEZ B » A5 TTALE
SRR A F4ED
R4 2

N ipd LAt L e
i e RE
NBE— NS BB e
— S - SR
T EER LAY
ETh e JN-2
AT EER RS TS
24 NEARER HEUN A 0 86%
TR 2

AEEEREAD  BARL
B FREEAFET
B9 B REER (
&) EERR=r—?

2.1 A 1 75%

22 A 0 22%

2.3 A 1 T4%

2.5 A 1 81%

ARG EREE VA 6%/
& friMEE? (55

26 MRS RS A+ |
AR TS - A 12%
BB - ]

ATIREEERESINES 0%/
27 SEZBUEBRI [ A+ 0
TN N 3%
AT DG S
FRIES T BT UE)
AFIREHETHES G R
RIS SRR
S FSER A 3 R
B
AR EREFEIELE 5,/
210 HERE? CSIVERRE A 1
BEFHERG T 19%
ARSI
BT A @ S
JEREER - RAFIEIHE
BRI ?
AR EREHEENES
212 R EREREIE A 1 100%

=7
NHZHERNEEGES
—FE2/DAFRRRKRYLE > B
ZEGHRAZE/VEHFERX
BLE?
NEREREEELIN 2T

FEMEES » HABROR
2.14 =N B ERCE Bt A 0 6%

IES > WHFEHAHRR - B

H R EEST 2

2.8 A 1 83%

2.9 A 0 16%

2.11

A 1 42%

2.13 A 1 89%




BOE A B AE S S I 1084
N E] A T A A IR S A S {U5E:1457

RRZEAILTT ~ UJT » MRZEAAILIT HEBITINLIT ~ UIT » RRZEA+ITT ~ 17T BHE8BITIULTT ~ UJT » RRZE BT ~ UJT ©
ES ]

o s E B85 2EATESHE
A ) A 2B B
FERCEE ~ ErE A S
AT o T
TR T 7
o PERERS) BER
/N TRk ?
ATZHEE - G0
PR Er Ss (EHA
216 R ENRERYER A | 100%
S R
PSR (2
ATEBGREERED
AT B
B AP ERE
ST
R ATREE LT
A
e 1|
2.19 FIEH AR E ETE0% A 1 94%
BLE?
AEENEBTREESEE
> BT R LS 2
AR BB AT S
A AR
221 AT AR At 0

HERRIE ~ 2 TSR T

BRI 0 (IR 3%

NS E G RRGE

kR S EEEEEA A
2.22 /O—FEHITEREHE— A 1 24%

X~ BRI B AT

WV e R 2

NET R B @GR

MR S E R -

RTINS
" SR WAREHEEFETEIR  AA 0 10%
TIPS « BT R
(RS RIRFE A FAE
# 9
AR SRR AL AR
S - SR
SR PRSI - 1IRE
A TSR 2
A RIS
. (L EMATIES RE 1AM 0% /
: DHEREHETERE | HH IS 5

W) (Ee s 53%

AR

EYEEE GRS

BoErs s - B S
221 (BEHERS) okt ! 9%

BAISEEA (NEIBE

&) BB

2.15

A 1 49%

2.17 A 1 0%

2.18 A 1 3%

2.20 A 1 9%

17% 1

2.24 A 1 51%




BOE A B AE S S I 1084
N E] A T A A IR S A S {U5E:1457

RRZEAILTT ~ UJT » MRZEAAILIT HEBITINLIT ~ UIT » RRZEA+ITT ~ 17T BHE8BITIULTT ~ UJT » RRZE BT ~ UJT ©
ES ]

B Ei= ! -t 7 2BATR/OLER

NEZNEFE A BB E
ETERARRE AT - NETE
TRAESERTSE ~ PIERZERIH
FEREHRERTS ~ BfTRFE R
GRS EF AR A
AR RE R B R H S TH
 BEERBRIBENE RS
 WAnELEHE ?
ONEIRRAT Az R AR RE
PR ARG EETE
Baor ~ REEEEAFrEE S
DEHERRRERIRBS
FEBEE R B =
TR
NEINEEABRE 2D
— NEABIEAETEZAT -
BESE e AR =R iR
SR AR E S
NERER ETEAFER
3.1 AEZEFEAMEEEF A 1 98%
WRETTARZ RO ?

NEREERD HEISCER

2.28 A 1 99%

2.29 A 1 97%

2.30 A 0 31%

3.2 e o A 0 19%
AFRER BTN

33 RIS RS A | 999%
Tk SRR 2
ARSI

34 AR RAERTGE  AA 0 99%
29
BT R R L)

35 HGEGTH LU A+ 0
B RS 2 (5 7%
N e

36 REMFCHRBEPMEE A 0 16%
29
AR R ES

37 BT > 5 2 A 1 _—
R EEEAGIIR

. RS LA A . .

: TEERIAIT - A
Erh e > 2
TR TR T (e

39 BB A B A | 979%
ey |- —
RS R BT

3.10 TesepEshaE 2 A 1 99%
P

311 SR TEHE A 2 & ! Bt
TR TR T BT

3.12 mﬁ%ggﬁ 0 e . A 0 57%
A RS E RS

3.13 )5‘2%_5%%)\2%@@ 0 . A 1 14%

314 NEFERESEEESEEN A | 530

ST B R < A



BOE A B AE S S I 1084
N E] A T A A IR S A S {U5E:1457

RRZEAILTT ~ UJT » MRZEAAILIT HEBITINLIT ~ UIT » RRZEA+ITT ~ 17T BHE8BITIULTT ~ UJT » RRZE BT ~ UJT ©
ES ]

B Ei= ! -t 7 2BATR/OLER

AR S HRR R
3B BT R L PR
HHFIGEEIEBT L
BEHNS AR ?
AT AR IRE
SR E - AL
3,16 BESZ U B A 1 78%
HELL ] S+ 44 By s 4
6~ FE B R L 2
AR T IRE A
3.17 B EERATGEZAN A 0 61%
&l ?
AR SR BT A TS
3.18 » WEEMH - %R AE A 0 29%
JEHEAHREEE 2
A TR R T A S i
iR t§9@%fﬁ%
RS AR - B -
R T
ATRESHETEHE
W IE R > BT
3.20 ERFERMIGE A RAGE A+ 0
W=M@ALE? (EEEE
D EB RS R E 1%
AR BBMAEE 1 s
Bl > (@ RIE4 2 0
N S B AR
HE o DIETHE - ME e
41 THTBCE - AIRCSERIEE A 0 299%
5t o AARFEH A TLENE R
EHR
ARG BRI RS
GOBE (3F) BEL BE
BSOS R R
42 BIETREAEIT  LRAE A 0 24%
Y AR SRR B B
A RATI - EEHR
HEEWE 2

NEREHLELEREZ
43 BEEat SRl ERSE A 1 44%
E STy AN S Ee

NERESFZEIRER

3.15

A 1 %

3.19 A 1 86%

26% 1

3.21

44 SHEWES GRERE IR 319 /
' SRS ESRT AT P
WSS wEE (28 2%
“T%”Zﬁ¥ﬁﬁ =
B T
+ YwER REREESE 0 17%
B0
NEEESFZEIEAEAL
» TR A B SRS L
+o BRI LRBRATE O ! 30%
Bhie 45
e AFRESER TS . p

BT &% TERG Y ?



BOE A B AE S S I 1084
N E] A T A A IR S A S {U5E:1457

RRZEAILTT ~ UJT » MRZEAAILIT HEBITINLIT ~ UIT » RRZEA+ITT ~ 17T BHE8BITIULTT ~ UJT » RRZE BT ~ UJT ©
ES ]

i e Em /%  SBATESLE
NI AR B - B
SRR o R,
48 TR WEBEN AT A
A 2 (1074 REA
RGN > AR 20%
S TV B R A T
4.9 A TR - RREIE A 0 76%
LA
I E B R A
4.10 TABELETFEETR A 0 64%
S B LR
L EST Ea 0%
411 (LSRR A I
517 BRI - 1%
INEIIE AR ARG - 38
MR - RORKI 1 36% /
{ RS R © (24
e N 11%
A EI R A 31S0 14001 -
4.13 ISO50001 S > B EAE A 0 40%
P 2B 2
A E S e A R
WRAZHEMEAS W, A 529 /
SERE - W S 5
507 [EEHg & F 1%
NPT
T B SO ECE - T3]
EU AR T
UE
AT AR AT
EEETATA AR I EssH
R (T R 5
T BRI 2
A EVEET S O T
R SR TEIE >
PRASEIECE - TR ELIERATE
EINEEN
TR » AR ITEIENS
T ?
AEREREEEUG - 55
SPE - BRSNS
KR S B R TBA
SRR 7 2

153 H&83m 93% /
73

4.12

4.14

4.15 A 0 35%

4.16 60%

4.17 A 0 31%

4.18 A 1 99%

HAth

o8 R/HISHRHA

NEREN A EHFEH
BRZRE  BHHEEIAF
AHEARRENE ? (1A
RSB ES A A E
TEHEVH BHSTHE S AR AL I

9 )

HIMINsIRE




BOE A B AE S S I 1084
N E] A T A A IR S A S {U5E:1457

RRZEAILTT ~ UJT » MRZEAAILIT HEBITINLIT ~ UIT » RRZEA+ITT ~ 17T BHE8BITIULTT ~ UJT » RRZE BT ~ UJT ©
ES ]

B Ei= ! -t 7 2BATR/OLER

NEREHENERH#EE
A REERE A
EP PRI B A A E]
EHFEAIZEE? [1LAF
BHEENETHEMEA
NG RENRIEZ S A
PR 0T R 5 4R
iR ? LAFREHENEN
NSRRI 2 B2 E L
BERIBAEEE LB E R
Bor ? 3 ANERERHHAA
FAENEEFRIZESE - &
HINRRTRE FERAEARTRIN RS S ~ R4 Aoy
HefH ~ I~ =
o R - B
B ~ BNAEGHEAE
RS A EE BB AST
Buga sy ~ EUARIEER ~ i
R 4. SR RIRE
WL EB R SR R
SRz EE 5 M -
DN EEE TR R E (E]
» B TERAKHS50% HL 1
FEHZIEE]

B4
I M (R TS5y (DU SR B 100 55) -+ FRAISHELAIANG « BRAITE Rt » 40 ¢ AARE - A+HE >
INST ~ RS - EAT IR - ST SR ¢

5 AT 5 = [T P T8 P 8 P A ) T 59 L 100

EStEE WNEERE  FEAEER

AA/A+REFINGE
FREH

HETERE R M 2 R P R ER
LS GEEEEEE

T EEERE 21 0.24 12
EHMETEHE 18 0.21 9
St 2

o O O O
A O =

5y :71.85
A EHERAREE : 36%~50%



